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10.
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English

How is the word “enough” used in these
two sentences?

(i) These is time ‘enough’ and to spare.
(i) You know well ‘enough’ what Imean.
Ans.—Adjective and Adverb.

Use Correct words in place of bold
letters given in these two sentences.

(i) It is better to seek advice from a
financial CONSULTANT on how to
SAFE your business.

Ans.—Write secure in place of safe.

(ii) On two CONSECUTIVE nights two
greatest ICONES of show business

were honoured with
UNPRECEDENTED AFFECTION.

Ans.—ICONES = ICONE

Public declaration by a political party of
Principles and Policy is called
— Manifesto
Custom having more than one husband
at the same time
— Polyandary.
Complete the sentences.
(i) Tonight's game Was ........ because of
the rain.
Ans.—Called—off.
(ii) .coeeseseenens hAving worked really hard
in office, Vikas did not get the much
expected promotion.
Ans.—Despite off.
Nearest in meaning,.
(i) Premium — Ans.—Superior.
Meaning of Exhort
Ans.—Encourage.

Write opposite meaning,

Established — Ans.—MNew.

11.
12+

13.

Affluent —
Correct meaning.

Ans.—FPoor,

(i) His behaviour compelled me to give
him a piece of my mind —

Ans.—Scold him.
In black and white Ans.— In writing

In the following passage, there are blank
space which have been numbered.
These numbers are printed below the
passage and against each, four words are
suggested, one of which fits
appropriately.

The emperor of China had (14} Some
peaches to the king of Turkey with a note
(15) that the families gives long life to
anyone who eats them. As the fruits were
being shown to the ruler Ram giving into
the temptation (16) Up one of the lucious
peaches and bit into it.

14. (A) parcel (B) grown (C) bought (D) sent
Ans.—(D) sent.

15. (A) stating (B) attach (c) stuck (d) telling
Ans.—{A) stating.

16. (A)reached (B) picked (C) take (D) secure
Ans.—{B) picked.

Hindi

17. T e == fEem — ¥im
18. = W" WE WA B — §aq

19.
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20,
205

22,
23,
24,

25,
26.
27,
28.
29.

30.
31.
32.

33,

34,

35.

41.

W IS =R — favmm

HEA W gAtgarst e e e

(A) F5€ (B) T (C) § (D) WG
IT—(A) FHA

|TAT 9188 Rl TATTEAT — TE

THIT T WehiT BT — TR &t &=

yrife vrsg T wEEe e B

(A) It (B) HF (C) Raan (D) swwm
IE—(D) STHT

S st g=3T W@ arer — ffig
ST o1 el § U4T TAT B — el
“Ieemr|” T Wby AT - 3q + 9
e W IW HT N — FgT W R

FgT X sg Ty = oy

(A) <ienm (B) Tden (C) fanm (D) gyan
ITX—(C) faam

g HF WTETeTi Wl S AT — g

“IrpeE” WIS T fae — fre=
Tgrd st faem — Hw
Reasoning

TH AR W A =T ST ?

ABCD PQRS ABCDE ABCDEF
P ARS(B) =V (C)= (D)=W
PQRST =7?
(E)

IW-U

g P=+,R=+,T=— V=X 0d
12V4R16P8T6 = ? ITT—44
NSIK ® 57 =g 10 9 9= g
WHa & = ST = I B 2
==7—2 (SINK, SKIN)
(U9 36 | 40 T2 = £1)
e 3 oo § 10 =5 ==n fer =@

e 20 Tl ==n &&= =21 | =3
gt 10 f&d. =em == &&= == ==7

42,

43,

44,

45,

46,

47.

48,
49,
50.

51.
52.

3R 5 fwA. wem 9w eIt e @
feremT 9T 2

STWL—-20+5=25km =

(& 20 km B

10
km
A

KNWWQT'&H@'%F&DGW-
]/ 2l

10 km

5 km

I—]M
R ¥ W A de wuE g W au w
e
(A) dr= (B) =il (C) €A1 (D) g1
(D) g
(sifs &0 Wk Solid Carbon 71)
o ¥ W 9 b 90 1 -9 9E 9
SET 21
(1) fen (2) @ (3) S (4) HER (Grey)
I—(4) YT (Grey)
NREAﬁ%mﬁmaﬁ%mm
ST @ehd €I
SW{—2 (EARN, NEAR)
A & 3T — 311, 300, 278, 245,
201, 146,

ITT—80
(3T 11, 22, 33, 44, 55, 66)

GUEST @I HVFTU fa@ar s& @t NEST
@ e ferar srREm

SW—-0OFTU

(HT—TH-TF Letter H1 )

UMY = YfeTe s g = EIC|

WA VAT & U — it fafim Tem

IR & Ugell (Uraniun) @ &l 9T 87

. IS

qEr WS waEt & — Rume (See-wh)

YRa W Ugel (Technicolor Film) 1950 o
g Tofde = w8 oh

ITR—FE = T (e @)
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53.

54,

55.

56.

57.

58.

99.

60.

61.

62,

63.

64,

65.

%TFEI T "o atfusw wuer form @f= &
7
(%) " (@) amE (M) AERS (Mica)
(%) 378 ¥ hig 7=l
ITL—(71) HEH (Mica)
fopa draw § vaTET oEft s wEedd gt gl
SAC—Ha[
?-‘H e ifuert faaw e WATET SIIdr
?
IW-10 &R
Hygrometer ST S14dr 27
S-S (Relative Humidity)
fuser viaerres oftcTiiueh el &7
IS SHifEr (2018)
e—2022 H—AfET (T H BMI)
ST ST UEET UTHIUT Reactor Wl U 21
FTC—TGR
T SR 3 U Ul SEd e
S @i
ITT—1982
whrg S dikex avrer fee |
" @ 7T 2
(i) ISRO (ii) UGC (iii) ST <<t favafaamad
IAC—TH §
TR AT ST HEATed Hel 9t 7
IWT—27 (Hague)
A WHA &1 A FITEeh?
IAT—FEIGL IME STHL
T wer & oIl WA | S wEe
s 6 87
SHT—e &R 1 A= TR
oo, e T ATaE WA i W 27
TE—FTE[ (AR—Tee—=)
13% of 258 — (7) = 10
ST ? Hl x A el x @i Value
freprel

66.

67.

68.

69.

70.

(I11)

=13% of 258 — x =10

=x =23.54
1 3 2
5 5 5

1

IW = 9=

5

5437 — 3153 + 2284 = ?x 50
SHE—AIE: ? H X °AH

= 5437 — 3153 + 2284 = X x 50
=X=91.36

27 Zre=T i 18 sy w1 =™ 80,100
=0 $1 12 2T it 8 Tyawy =t @
FTH B

IT—FA 27 + 18 = 45
45 &1 g = 80,100

T 80,100
1 =

45
80,100
(12 + 8) = 20 ¥ ¥H = % 20
45

= 35,600/~

10 2T 31T 8 3fivd weh A =t et
s frg § @ & B oia g’ Uk T
foraT TET T BT BT TS T § e
T T ST STET 1 4 T 3T 6 AR
To = H fwa BT ® W

IE—-10 &9
Are—siE = o § uRafda w

. 4 e 8 SRS - we T =10+ 4 =14

14 st HW H 5 A W HW R
| orreet w™ @ 1 & d B ¥ =14x%5

14 x5
(4 +3) 7 Al = “2 —10 f

T mﬁmﬁwﬁiﬁgﬁ&'fﬁ
o, stferes &1 afx orrETa @ At 126 |
o, 2 ar =i Sl

SET—T G = x, 9 g = x +7
uftfy =2(x+x+7)=:126,x=28‘{3£ﬁ1'.
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. 16500 & T WX 16% T | =W €T
¥ WERUT = feRaAr gm
PxRxT
100

Ii—Formula =5.1. =

_16500x16><4
B iS00

TS A TS T 4500 ®, § G AN W
15% w9 OX A= faEm R wme 0 |
I U R a5 et 3 10% T W
a1 T SHET Tl AW AT BT T g
IW—157.50 &. B \

Tel: 39 ged = 4500, S=f T 15% AH W

= 10560

15
s = 4500 x — =675
B0 i 100

Fel TR = 4500 + 675 = 5175 —(i)
T 5175 & |1 TF R T%g T 3T 10%

10
T4 =5175x—— = 517.5
@ 100

73,

74.
75.

76.

T
78.

79

80.

A TR = 4500 + 5175 =5017.5F. —(ii)
9 =5175 -5017.5 = 157.50
TAaiST Tt o feReent @t &t
: — Pencillin
Coral (_WHEIT%) — S
Pencil M | maqa;ruvﬂﬂ‘a’!m%
— Graphite
ferer Tt SUTeRT (Blood Cell) R I T
fourdt =gl ST @ — WS W@ FIREH
YeRToT 9 fHTeRt AT & — AR 30
WS Wt uisRar fRe 2 A e el
e
H,N -FLU fFwet av & 2r
— fawm] (Virus)
?!%ﬁ T AW (Saved Documents) <hl
e T 8 — File




